Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER —1(CtoD) News EXAMINATION - SUMMER - 2023

Subject Code: C4300003
Subject Name: Environment and Sustainability
Time: 10:30 AM TO 12:00 PM

Instructions:

Date : 05-08-2023

Total Marks:70

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
No. | Question Text and Option. Wl 4l [AS&).
Babool and cactus like plants found
1. | A. | Coral reef ecosystem B. | Desert ecosystem
C. | Fresh water ecosystem D. | Tropical ecosystem
Wouid Wl 352 Bl YIS KL Wldl YA 8?2
1L A | skadls pslRed B. |20l psl[eH
C. | dleuleilel sslRieH D. | Guas(euitly osleH
Vegetables, grass, trees etc. are which type of biotic components
2. | A. | Producers B. | Consumers
C. | Decomposers D. | Transformers
A5, €Y, dell ddR sUL USReL B(ds ges) 87
R. | A | Gaulesl B. | Gueilsdl
C. | [dgesisdl D. | 2louslH
In a food web, human is
3. | A | Producer B. | Only primary consumer
C. | Primary and secondary consumer D. | Only secondary consumer
AU Hldld___ 8
3. [A | [Auldl B. | A vleMs GUellsl
C. | uieis 24a JNEl GUellsdl D. | Hist AlleL GUeilsdl
The component of environment made of sea, rivers, lake etc. is called
4. | A. | atmosphere B. | hydrosphere
C. | biosphere D. | lithosphere
Y, e, dold 998l Wadl udldlell ees s&dd 9
¥, | A | dldldRel B. | sloslRsuR
C. | wRIRsIR D. | [qell(@su
The biotic component which feed on only grass and vegetation is
5. | A. | Herbivores B. | Carnivores
C. | Omnivores D. | Decomposers
Blasties 3 B s5d el wel delu (] U % «16) 8.
U A slelRl B. |HidlsRl
C. | udeieil D. | [deesisdl
Which is the largest ecosystem on the earth?
6. | A. | Forests B. | Sea
C. | Deserts D. | Grasslands
¢ qex:ﬂ Uz lell H1¢ psled 53 82
A %) ENETT
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| 201 | D. | elldell Nelell
Which of the following drug used for veterinary purpose is the cause for death of
7 vultures?
" | A. | Chloroquine B. | Diclofenac
C. Azﬂhromycme D. | Paracitamol
Afldstl Yol 5121 ULRL(SRLL &d HI2 duld] «{lAstiHigll 58 edl 87
9. |A | sdlRl(sdet B. | Slselldells
C. | AN[eHLIel D. |WieHld
In a food chain
A. | energy flows from tropic level-1to | B. | energy flows from tropic level-4 to
8. tropic level-4 tropic level-1
C. | energy does not flow D. | energy flows from tropic level-4 to
tropic level-3
§5iU |
A. | Gl 2l[us Add-1¢]l 2l(us dqe - [ B. | G 2l(us ddad -4 &f] 2\[Us qdg
C. 4drsdé 9 1dR§dé 8
C. | Gl déd] «tell D. | Gl 2l(us ddd -4 &f] 2\[Us qdg
344l dé 8
In cell of organisms, DNA, RNA the important element is
9. | A. | Carbon B. | Nitrogen
C. | Sulphur D. Phosphorous
a@cn«u S, SlAe1), W RAAWH I HecdYQl ded 53 872
€. |A | slole B. |sllg2losel
C. | UK D. | sl38
The forests found near sea shore on marshy land are
10. | A. | Deciduous forest B. | Desert forest
C. | Mangrove forest D. | Coniferous forest
eaedl el U eRUL(S-IR %ldl Hudl 2Ll sl B2
. | A | UlelwWR %2lq B. | 20lef %014
C. | dalldq] ¥a1q D. | 2iggu %dld
Which is the critically endangered species in small desert of Kutch?
11. | A. | Flamingo B. | Wild Ass
C. | Black dear D. | Desert cat
528991 ol o1l 2| ¥ctl Hod] Aid gdel Yost(d 8.
19 |A | s B. | %ol as)
C. | 510 &0 D. |20l (Wdls)
Which pair is incorrect?
12 A. | Great Indian bustard Thar desert, B. | Wild Ass, Small desert of Kutch
' Rajasthan.
C. | Unicon rhino, Sundarvan forests D. | Barsinga dear, Gujarat Gir forests
58 %131 vilél 87
A | HSlod HRAY (RS IR0 B. | %2ldlolds) - 5390]ells2l
R. S Raaly!
C. | Y[ASleAIlS) - Yerdsteliondrel D. | WR[R2UL &ML - 1 IlRell
%1)
The unit of ecological footprint is
13. | A. | Acre B. | Hectare
C. | Global hectare D. | Square meter
95141254 s2[Usesll UsY B
3. A | UK B. | &se2

2/10




| dlads 8522

|D. | ARyHleR

At present how many earths are required to

sustain present population on earth?

A. [ 125

B. |1.75

14,
C. | 250 D. [3.25
yec] U slgui ddHlet dadla esidl 2wl Hi2 324l yedlsl a2 872
. |A | 1.25 B. |1.75
C. 1250 D. 325
Which of the following gas emitted by factories, power plants and human population is
15 | more harmful to the atmosphere? _
" | A. | Oxygen B. | Nitrogen
C. | Chlorine D. | Carbon dioxide
oflAet Hief] AL AU T2, UldR Wlead wa Hield dl gl21 Gt &1y 8
W\ % dldldRBL HI2 aY sllei5125 872
A u[sdel B. |lledlosl
C. | sdlRel D. | slufel SIISAULDS
The gas produced from refrigerators and air conditioners is
16. | A. | Carbon dioxide B. |CFC
C. Nltrogen D. | Ozone
z[é%aaa el AR S(S2eHiell Geulled Ay sl 82
€. | A | 516t SRILSALYS B. | CFC
C. |dlp2lwe D. | »hled
The noise pollution is measured in
17. | A. | Decibel B. | Dyne
C. | Eco D. | Newton
e (o] UENBL 541 A sH UL HIUAH] 41d 87?
0. |A | SRug B. |Sloe
C. |osl D. | oye-t
What is carbon dioxide content in atmosphere?
18. | A. | 0.03% B. [0.1%
C. |21% D. | 10%
clldlcRRIH] 5l0le SIRNSAUIOSe] UHLEL 9 B?
. | A. | 0.03% B. [0.1%
C. |21% D. |[10%
In Dec.-1984, from union carbide company at Bhopal, which toxic gas was leaked?
19. | A | Methane B. | Methyl isosynate
C. | Acetylene D. | Carbon monoxide
[SA10642-1984H 1 lULE VLA Y[stdel SI6LES SUsilHiel]l sU) A3 AY ¢ls &) sdl?
e |A | M B. | Maulge ylpdl[ae
C. | ARl D. | slufel Yl S4LES
Which of the following is not an aerosol?
20. | A. | Radiation B. | Mist
C. | Dust D. | Fog
o | st 1] 53 WA\ ief]?
Ro. | A |R(sAele B. | %lsul
C. |yu D. | iy
What is the size of aerosol particles?
21. A. Less than 1 pm B. |lessthan 1 mm
Less than 0.1 pm D. | Lessthan 10 mm
% ﬂamq 5Ql s¢ 9 B2

A. |1 pum 5di 2g

|B. | 1 mm Sdi 1§
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1 0.1 pm 5di ¥\E |

D. | 10 mm $di il

BOD measures

22. | A. | content of bacteria B. | content of inorganic matter
C. | carbonic matter in domestic sewage | D. | None of the above
BOD 2, HIU 87?

R, A | AsRAUL UHILL B. | wsl0{[els uglels U1l
C. | &3¢ d12Mi sludlleds ¢ D. | Gulsduiell s1¢ «ieil
What is the pH value of acidic water?

23. |A. | 7.15 B. | morethan7
C. | Lessthan? D. |0
AR5 UIlle] pH Heu 9f 872

3. | A |7.15 B. |7¢lay
C. |7 sdlal® D. |0
‘Minamata’ disease is caused by

24. | A. | Mercury B. |Lead
C. | Zinc D. | Manganese

‘[Hetimier 2101 Qetledl w82
oy A [ URL B. |dls
TG | MAls D. | "3leflo
'‘BOD' means.

25. | A. | Basic oxygen demand B. | Biological oxygen demand
C. | Biochemical oxygen demand D. | Biological organic demand
'BOD' ¥4,

U | A [ aed w1541 Hidl B. | og(ds wil(suoset Hidl
C. | WRB(HSE ) [suo8e1 Hidl D. | %g[ds sluifsis Hidl
Which gas has produce adverse effect on TajMahal?

26. |A. | CO B. |SO,

C. |CFC D. | Hydrogen
dlrHed UR 5] A Uldsn AR 52 8?

e, |A. | CO B. |SO
C. | CFC D. | sl®sloue
Which air pollutant reduces oxygen carrying capacity of blood?

27. | A. | Ammonia B. | Hydrogen sulphide
C. | Carbon monoxide D. | Sulphur dioxide
53 A1} e s lelofl ) (540l dest gHdl g2ls 872

0. A | Y[yl B. | cloySl%el AE51OS
C. | slolst HlolsUlDS D. | &5 SRISAULBS
What is the main product of photochemical smog?

28. | A. | PAN B. | Oxygen
C. | Carbon dioxide D. | Methane
s1o13 (156 ML Yuicd Q) slU 872

¢. |A. | PAN B. | ¥\[su%et
C. | slolst SRISUIBS D. | (M
In cyclone separator, to remove particulate matter from gas the force used is

29. | A. | Electrostatic force B. | Centrifugal force
C. | Gravitational force D. | Hydrostatic force
Usdld [deorsyi, AuHiell 5 e SALUL.. Wol dURIY 8.

e, | A | paselfes Lo B. | deldll }an
C. | J2cdlsyl Wol D. | slosleles ya

30. | In waste water treatment plant, detritus tank removes
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A. | Floating matter B. | Gritand sand
C. | Qil, grease D. | Bacteria
de dleR Zledse wlau S22y 2islell 9f ¢ Ul 87
30. [A | ddluglel B. | sudl wa 3l
C. |dd, Ay D. | dseRul
Which of the following is not a secondary treatment method of waste water treatment?
31. | A. | Trickling filter B. | Sludge digestion tank
C. | Sedimentation tank D. | Activated sludge process
o1 Ast iy ief] 56 dlel ULLllsfl A1 1Re{] A1 Useg(d o1efl?
31 | A | 2lsldal (seeR B. | sled Ulde 2isl
C. | AlsH2elq 2isl D. | D.ulsy sled ulsul
The automobile exhaust mainly contains
32. | A. | Hydrocarbon, carbon monoxide B. | Lead vapour
C. | Sulphur dioxide D. | Carbon dioxide
W12IHIH 165G W 5812 Yudcd QL HR1d 8?
3R | A | sloslsloded, 516t HlAl5U18S B. | dlseldrin
C. | s SRILSAULBS D. | slufel SIASAUIDS
For sustainable development the use of energy recommended is
33. | A. | Nuclear energy B. | Renewable energy
C. | Conventional energy D. | Natural gas
251G [A51d HIR sULUSReIl Glodetl GUALILll eidsl scIMi 41 87
33, [A |24 Gt B. | adlsflsalla Giost
C. | uuldld Gl D. | sedl Ay
By using conventional energy sources
34. | A. | Does not produce pollution B. | Reduce pollution
C. | Produce pollution D. | All the above
YRR GostEldlell GulaL salell
3% | A | UeNRlUel 4d «ell B. Ut e d
C. |ueNBl Bzt oIy 8 D. | GURlsd duly
Which of the following is not a renewable energy source?
35. | A. | Wind energy B. | Solar energy
C. | Ocean energy D. | Fossil fuels
o1 Aoty i) SA Yol Goslild e1efl?
3U. [ A [ ydeiGlast B. | ARGt
C. | HslUPREES D. | w[4edHal
Which type of energy is continuously available?
36. | A. | Solar energy B. | Natural gas
C. | Petroleum D. | Nuclear energy
sUL USRIl Gl Add Gueod 87
3%, [A [ ARG B. | sedloly
C. |[uellayy QL Glowl
Which of the following is a renewable source of energy?
37. | A. | Petroleum B. | Forests and vegetation
C. | Natural gas D. | None of the above
o1 sty il sU) ool Yel: Ul Bld B2
39. |A | Q2llqyy B. | %214l ¥al deiy(d
C. | serdlly D. | Gulsduiell 519 sl
In horizontal axis wind turbine (HAWT) where generator is placed?
38. | A. | Inthe nessel B. | above the tower
C. |atground level D. |Inthe gear box
3¢. | SRRl»led W (54Y [deS 26 18el (HAWT) Hi %eide2 Ui YsalHi 21d 87?
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A | Adeui B. |2ldRlGWR
C. | AlBs add WR D. | PruRedlsyHi
Large size wind turbine rotor rotates by
39. | A. | Drag force B. | Liftforce
C. | Resultant of drag and lift force D. | Reactive force
Hl2l S¢oil ([doSeu |8l 2122 sil Gl2L 52 82
3e [ A [ 38l B. | (G525l
C. |33 ([@gesldjuRuuM «a | D. | vld(suiellgsa
In Savonious wind turbine the rotor axis is
40. | A. | Horizontal B. | Inclined
C. | Vertical D. | Connected to Nessel
Al (AU [deSew[Bet] 2122 el 3q Sl §?
¥o. | A | HIG B. |4y
C. |Gy D. |a3d 412 ¥\s1Ad
The minimum average annual wind speed required to setup wind mill is
41. | A. | 25 km/hr B. | 35km/hr
C. | 15 km/hr D. |45 km/hr
Yo 55| QoufU 5l HI2 %3] YstdH U212l dlNS Udeisll oU[d_ B
¥4 | A | 25 (sHl/sdls B. |35 (sMl/sdals
C. |15 [sMl/sals D. |45 [sl/sals
In India, which state has maximum wind energy installed capacity?
42. | A. | Tamilnadu B. | Gujarat
C. | Maharashtra D. | Karnataka
eLIRAM UL UM el dy Udsi Q1o @ Ud&Hdl 87
¥R | A | dMasily B. |32Ud
C. |YsRIY D. |sulles
The control system which rotate the wind mill rotor in the direction of wind is called
43. | A. | Yaw control B. Pitch control
C. | Generator control Emergency tripping
seld Ao % Udelussleil 2124 Udelel [Eaum 3RA8dA_ sé&dHidd 8
¥3. | A |l (AR B. | (U [+~
C. | %elieR [¢1ARl D. | oyl [2[Ual Ried
The arrangement of changing angle of blades in wind mill is called
44, | A. | Yaw B. | Skew
C. | Motor D. | Pitch
Ydefy sSIHI aaseil 5181 sdedalefl I sail 5&cIHi x11d 8.
¥y, A Al B. |
C. [HIR D. | [y
To produce tidal energy, the minimum difference in water levels of high tide and low
45 tide is
A |5m B. [10m
C. [15m D. |20m
{16 Geust sl HI2, Q1A el e o] Hcfletl ULfletl 2dHi dgdH
gy, Lcsldd 524l eldl A
A. |5m B. |10m
C. [15m D. |[20m
The absorber plate of solar heater is made of
46. | A. | Glass B. | Plastic
C. | Iron D. | Timber
e encmdaz«ﬂ 2usdR el wadl sy B2

A | sy

|B. [wilRes
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| ud1ed

|D. [aisd

47.

Silicon material

A. | can resist very high temperature

B. | has high boiling point

C. |isveryhard

D. | All the above

0.

((esl+t Hig

A [ wol QIuL diuMleell uldsi 532
A5 8

B. | G Gcsdoifoig ur1d &

C. | v o quid &

D. | GURSd dHIH

48.

A strip made by connecting two metals is called

A. | Thermocouple

B. | Collector

Absorber plate

D. | Flat plate

W glqulla HSlA Wetldd M MIddl ygla s&didi11d 8
¥¢. |A | gdlsug B. | sdse:
C. |2lyswe D. |dulewde
Which gas has maximum content in biogas?
49. | A. | Carbon dioxide B. | Oxygen
C. | Nitrogen D. | Methane
G IRNAYUL 4L A UHILL HedY Sl 872
¥e. | A | 516dSIRISALOS B. | w54l
C. | dlp2lwe D. | Mas

In biogas plant, digestion takes place in the absence of

50. [ A. [ Oxygen B. | Carbon dioxide
C. | Hydrogen D. | Methane
W RIPDIYLe2H, dell ARe1%Mi Slesuet ulsUlld 8
Yo. | A | wl[sy%el B. | sle{eiSIALSAUIOS
C. | &loslosl D. | [Mald
The ozone layer absorbs
51. | A. | x-rays B. | G-rays
C. | Infrared rays D. | Ultraviolet rays
WAl 21Nl a 8.
ul A | -5l B. | 3Hl-(s0
C. | 9o51Rs [52M D. | wealdlde (501
Which of the following is not a green house gas?
52. |A. |CO B. | O,
C. | CHq4 D. |CFC
oAt Mol 5 Als1GY A <1el?
U |A. | CO B. | O,
C. | CHq4 D. |CFC
Due to ozone hole in the earth's atmosphere which rays comes to earth surface?
53. | A. | Laser rays B. | X-rays
C. | Ultraviolet rays D. | None of the above
yedlaf| dldldRQHI WAl [69¢a 5129 sl (580 yedl+{l 4u1d]l U2 w41 82
u3. |A | dar(swel B. |3sy-3
C. | weldidlde (501 D. | Asuyl «i¢l
Which of the following is mainly responsible for ozone layer depletion?
54. |A. |CFC B. | SO,
C. |CO D. | CH4
ol At 1] 54 WALt cdRell telSl Hie Yuled AdIUER 87
U8 A TcrC B. | SO,
C. |CO D. [CH4
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Which of the following is a green house gas?

55. | A. | Oxygen B. | Nitrogen
C. | Carbon dioxide D. | Sulphur dioxide
ol Aoty ief] $A) AlAsIGUNY B2
wy A | st B. |lledlosl
"1 C | 51eSRILSULES D. | dE5 SRIISAULYS
CFC used in refrigerator contains
56. | A. | Carbon B. | Hydrogen
C. | Chlorine and fluorine D. | all the above
afémam duldl crc g H1d 87?
ue A slolo B. | eloyslue
C. | selRel U §ellRet D. | GUlsddHIH
Which of the following is a green house gas?
57. | A. | Nitrogen B. | Oxygen
C. | Water vapour D. | Argon
oAt H el s AdsIGUIAY B?
uo. [A | dle2lese B. | w\[5%el
C. |ulailel arin D. | wilet
The reason for sea level rise is
58. | A. | Depletion in ozone layer B. | Smog
C. | Global warming D. | Acidrain
eRls{l quIel qudls 51281 8
ue, | A | bt ML wdgiy B. |4y
C. | oqluid qlfay D. [A[AS a3 le
Which gas is mainly responsible for green house effect?
59. |A. | CO B. | CFC
C. | CHq4 D. [NO
Aot 16U I552 Ul s A YuAcd FAHER B?
ye |A. | CO B. | CFC
C. | CHq4 D. |NO
The primary agenda of the Kyoto Protocol is
A. | Regulation of hazardous wastes B. | Regulate the production of nuclear
60. energy
C. | Control anthropogenic sources of D. | None of the above
greenhouse gases
sUl2l vlelslaell ulems siyRl. 9
A. | W] su2Uef (4yHel B. | UH1 Glodlell Glleoia) (1 (Ad
%0, 59,
C. | AloAs1GA dlygletl AU [sis | D. | As5UQelEl
Aldla [(3Ad 529
The primary agenda of the Montreal Protocol is
A. | Regulate the production of nuclear B. | Control anthropogenic sources of
61. energy greenhouse gases
C. | Protect the Ozone layer in the D. | All of the above
Stratosphere
Ul-glue Wlelslasdl wias sRiyR_ 8
€6, | A | URHIY Glowlstl Galleolal [HAGEd | B. | AlstelGA cigudlstl ReelU1B [e15

59

Aldla [(Ed 529
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C.

Rl REUUT 15l 2R Yr(eld
59

D. | GURASddHIH

Following gas contribute about 55-60% to global warming on earth

62. | A. | CO; B. |CFC
C. |CH4 D. | N2O
yec] Uzetl oqlodd ) 1M oflAell AUetl SL01] @21 55-60% B
. |A. | CO; B. |CFC
C. |CHs D. | N2O
The people residing within km of wild life sanctuaries are prohibited from
63 keeping arms without permission
" |A. | 5km B. |10 km
C. |15km D. | 20 km
SRR SERACHIRISIE] [s3{lol 2ie2 &l dlsla URalletd] (detl e[2AR
AWl YR Uldeiy 8
=3 A [ 5 (saler B. |10 [sdlHleR
C. |15 [seller D. |20 (sdl{leR
ISO 14000 is related to
64 A. | Product quality B. | Environmental management
' systems in industrial units
C. | Water pollution D. | Preservation of biodiversity
1SO 14000 gl Aoifdd &
o | A Gllestefl Ialdl B. | 2{1#l0Ls WsHIHI ulaRel
' cdR(Yet YBLIE]
C. | ueNul D. | %d(dldudlel esindil
Which of the following is not a green building material?
65. | A. | Plastic B. | Flyash
C. | Silica fume D. | Recycle aggregate
ol Aot 1] 53 Aol [c1[eSo1 U2 RUG siefl?
U | A wliRes B. | gald A2l
C. | Rilasl syu D. | Rulusq X[
1 carbon credit =
66. | A. | 1ton Nitrogen B. | 1ton Carbon dioxide
C. | 1ton Coal D. | All the above
1 5l0dst 3(S2 =
€. | A | 129 ol182%el B. | 12¢ slolol SIAISULBS
C. |1 eq slayl D. | GUlsd dHIH
The Air (Prevention & Control of pollution) Act, came into force from
67. | A. | 1972 B. |1974
C. |1981 D. | 1986
ALy (UeNQL [Ad 1261 Al [14ARl) W [el[4Y su1Re(] MUY W 1c)?
29. | A | 1972 B. |1974
C. |1981 D. | 1986
According to GRIHA rating system, 75 points are awarded following Star rating
68. | A. | One Star B. | Two Star
C. | Three Star D. | Four Star
GRIHA (221 (22U Yoo, 75 UlEe2 o wofey_ 2212 (22 A UdIH] 2419 &
@ A [ AsrR B. |drR
C. | ARl xR D. R XR
The Environmental Protection Act, came into force from
69. | A. | 1972 B. |1974
C. |1984 D. | 1986
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UYL 81 W [el (UM, S4190] WHEH ] 2 1c)?

gt | A | 1972 B. |1974
C. |1984 D. | 1986
Which of the following is not part of 5R concept?

70. | A. | Refuse B. | Reduce
C. | Reject D. | Recycle
ol Aot 1 ief] ) 5R vALEeA] G191 «12]]?

9o, | A | R&Yx B. | Rsyel
C. | Rse D. | RuIus4
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